K. YANO KODAI MATH. SEM. REP. **26** (1975), 137-151

ON COMPLEX CONFORMAL CONNECTIONS

Dedicated to Professor Yûsaku Komatu on his sixtieth birthday

By Kentaro Yano

§0. Introduction.

Let M be an n-dimensional differentiable manifold in which a system of paths is given by

$$\frac{d^2\xi^h}{dt^2} + \Gamma^h_{ji}(\xi) \frac{d\xi^j}{dt} \frac{d\xi^i}{dt} = 0.$$

A change of $\Gamma_{ji}^{\hbar}(=\Gamma_{ij}^{\hbar})$ which does not change the system of paths is given by

$$ar{arGamma}_{ji}^{\scriptscriptstyle h} \!=\! \Gamma^{\scriptscriptstyle h}_{ji} \!+\! \delta^{\scriptscriptstyle h}_{\jmath} \, p_i \!+\! \delta^{\scriptscriptstyle h}_i \, p_{\jmath}$$
 ,

where p_i is an arbitrary covector field, and is called a projective change of Γ . If there exists a covector field p_i such that the curvature tensor of $\overline{\Gamma}_{ji}^h$ vanishes, the manifold is said to be projectively flat.

It is well known (Weyl [6]) that the so-called Weyl projective curvature tensor

$$P_{kji}^{\ h} = R_{kji}^{\ h} + \delta_k^h P_{ji} - \delta_j^h P_{ki} - (P_{kj} - P_{jk}) \delta_i^h$$

is invariant under a projective change of Γ , where $R_{kji}{}^{h}$ is the curvature tensor of Γ and

$$P_{ji} = -\frac{n}{n^2 - 1} R_{ji} + \frac{1}{n^2 - 1} R_{ij}, \quad R_{ji} = R_{iji}^{t},$$

and a necessary and sufficient condition for M to be projectively flat is that

$$P_{kji}^{h} = 0 \quad \text{for} \quad n > 2$$

$$\nabla_k P_{ji} - \nabla_j P_{ki} = 0 \quad \text{for} \quad n = 2,$$

 ∇_k denoting the operator of covariant differentiation with respect to Γ .

If a Riemannian manifold is projectively flat, then it is of constant sectional curvature.

A complex analogue of the above is the following. In an almost complex manifold with structure tensor F_i^h , an affine connection Γ is called an *F*-connection if the almost complex structure tensor *F* is covariantly constant with

and

Received June 1, 1973.

respect to this connection.

In a complex manifold with a symmetric F-connection, we consider a curve $\xi^{h}(t)$ satisfying differential equations

$$\frac{d^2\xi^h}{dt^2} + \Gamma^h_{ji}(\xi) \frac{d\xi^j}{dt} \frac{d\xi^i}{dt} = \alpha(t) \frac{d\xi^h}{dt} + \beta(t) F_t^h \frac{d\xi^t}{dt},$$

where $\alpha(t)$ and $\beta(t)$ are certain functions of the parameter t. We call such a curve a holomorphically planar curve. If two symmetric F-connections Γ and $\overline{\Gamma}$ have all the holomorphically planar curves in common, they are said to be H-projectively related to each other.

It is known (Ishihara [3], [4]) that two symmetric F-connections Γ and $\vec{\Gamma}$ are H-projectively related to each other when and only when

$$\bar{\Gamma}^{h}_{ji} = \Gamma^{h}_{ji} + \delta^{h}_{j} p_{i} + \delta^{h}_{i} p_{j} + F^{h}_{j} q_{i} + F^{h}_{i} q_{j}$$

holds for a certain covector field p_i , where

$$q_i = -p_t F_i^t$$
.

We call such a change of Γ an *H*-projective change of symmetric *F*-connections. If there exists a covector field p_i such that the curvature tensor of Γ vanishes, the complex manifold with symmetric *F*-connection is said to be *H*-projectively flat.

It is also known that the H-projective curvature tensor of a symmetric Fconnection Γ defined by

$$P_{kji}{}^{h} = R_{kji}{}^{h} + \delta^{h}_{k}P_{ji} - \delta^{h}_{j}P_{ki} - (P_{kj} - P_{jk})\delta^{h}_{i}$$
$$+ F_{k}{}^{h}Q_{ji} - F_{j}{}^{h}Q_{ki} - (Q_{kj} - Q_{jk})F_{i}{}^{h}$$

is invariant under an H-projective change of symmetric F-connections, where

$$P_{ji} = -\frac{1}{n+2} \left\{ R_{ji} + \frac{2}{n-2} O_{ji}^{ts} (R_{ts} + R_{st}) \right\},$$
$$O_{ji}^{ts} = \frac{1}{2} (\partial_j^t \partial_i^s - F_j^t F_i^s)$$
$$Q_{ji} = -P_{ji} F_i^t$$

and

and a necessary and sufficient condition for M $(n \ge 4)$ with a symmetric F-connection to be H-projectively flat is that

$$P_{kji}^{h}=0.$$

If a Kähler manifold is H-projectively flat, then it is of constant holomorphic sectional curvature.

Let M be an *n*-dimensional Riemannian manifold with metric tensor g_{ji} . The change of the metric

$$\bar{g}_{ii} = e^{2p} g_{ii}$$
,

where p is a certain scalar function, does not change the angle between two vectors at a point and so is called a conformal change of the metric.

If there exists a function p such that the Riemannian manifold with the metric tensor $e^{2p}g_{ji}$ is locally Euclidean, the Riemannian manifold is said to be conformally flat.

It is well known (Weyl [6]) that the so-called Weyl conformal curvature tensor

$$C_{kji}^{h} = K_{kji}^{h} + \delta^{h}_{k}C_{ji} - \delta^{h}_{j}C_{ki} + C_{k}^{h}g_{ji} - C_{j}^{h}g_{ki}$$

is invariant under a conformal change of g, where K_{kji}^{h} is the Riemann-Christoffel curvature tensor of M and

$$C_{ji} = -\frac{1}{n-2} K_{ji} + \frac{1}{2(n-1)(n-2)} Kg_{ji},$$

$$C_k{}^h = C_{kt} g^{th}, \qquad K_{ji} = K_{tji}{}^t, \qquad K = g^{ji} K_{ji}$$

and a necessary and sufficient condition for M to be conformally flat is that

$$C_{kji}^{h} = 0 \quad \text{for} \quad n > 3$$
$$\nabla_k C_{ji} - \nabla_j C_{ki} = 0 \quad \text{for} \quad n = 3$$

 ∇_k denoting the operator of covariant differentiation with respect to Christoffel symbols formed with g.

A complex analogue of the above is not yet known. The main purpose of the present paper is to try to find the complex analogue of the above. It seems to the author that in the complex analogue a curvature tensor introduced by Bochner (Bochner [1], Tachibana [5], Yano and Bochner [8]) in a Kähler manifold plays the rôle of the Weyl conformal curvature tensor in a Riemannian manifold.

In §1, we state some of fundamental formulas in Riemannian and Kählerian manifolds to fix our notations and in §2 we study the curvature tensor introduced by Bochner in a Kähler manifold.

In § 3, we introduce what we call complex conformal connections and in § 4 we study the condition for a Kähler manifold to admit a complex conformal connection whose curvature tensor vanishes.

§1. Preliminaries.

We consider an *n*-dimensional Kähler manifold M covered by a system of coordinate neighborhoods $\{U; \xi^{\hbar}\}$, where here and in the sequel the indices h, i, j, \cdots run over the range $\{1, 2, \cdots, n\}$ $(n \ge 4)$, and denote by g_{ji} and F_i^{\hbar} the components of the Hermitian metric tensor and those of the complex structure tensor of M respectively.

and

We denote by ∇_j the operator of covariant differentiation with respect to the Christoffel symbols $\left\{ \begin{matrix} h \\ ji \end{matrix} \right\}$ formed with g_{ji} , then we have

(1.1)
$$\nabla_k g_{ji} = 0$$
, $\nabla_k F_i^h = 0$, $\nabla_k F_{ji} = 0$,

where $F_{ji} = F_j {}^t g_{ti}$ and consequently $F_{ji} = -F_{ij}$. We denote by

(1.2)
$$K_{kji}{}^{h} = \partial_{k} \left\{ \begin{array}{c} h\\ ji \end{array} \right\} - \partial_{j} \left\{ \begin{array}{c} h\\ ki \end{array} \right\} + \left\{ \begin{array}{c} h\\ kt \end{array} \right\} \left\{ \begin{array}{c} t\\ ji \end{array} \right\} - \left\{ \begin{array}{c} h\\ jt \end{array} \right\} \left\{ \begin{array}{c} t\\ ki \end{array} \right\},$$

where $\partial_k = \partial/\partial \xi^k$, the components of the Riemann-Christoffel curvature tensor of M.

It is well known that K_{kji}^{h} and $K_{kjih} = K_{kji}^{t} g_{th}$ satisfy

$$K_{kjih} + K_{jikh} + K_{ikjh} = 0$$

and

(1.6)
$$\nabla_l K_{kji}{}^h + \nabla_k K_{jli}{}^h + \nabla_j K_{lki}{}^h = 0,$$

(1.7)
$$\nabla_t K_{kji}{}^t = \nabla_k K_{ji} - \nabla_j K_{ki},$$

(1.8)
$$2\nabla_t K_k^t = \nabla_k K,$$

where

$$K_{ji} = K_{ij} = K_{tji}^t$$
 and $K = g^{ji} K_{ji}$

are the Ricci tensor and the scalar curvature of M respectively. In the Kähler manifold M, from the Ricci identity

$$\nabla_k \nabla_j F_i^h - \nabla_j \nabla_k F_i^h = K_{kjt}^h F_i^t - K_{kjt}^t F_t^h,$$

we have (see, Yano [7], Chapter IV)

(1.9)
$$K_{kjt}{}^{h}F_{t}{}^{t}-K_{kjt}{}^{t}F_{t}{}^{h}=0$$

(1.10)
$$K_{kji}{}^{h} + K_{kjs}{}^{t}F_{i}{}^{s}F_{t}{}^{h} = 0,$$

or

$$K_{kjht}F_{i}^{t}-K_{kjit}F_{h}^{t}=0,$$

$$K_{kjih} - K_{kjst} F_i{}^s F_h{}^t = 0$$

and

(1.13)
$$K_{j}^{t}F_{t}^{h}-K_{t}^{h}F_{j}^{t}=0,$$

(1.14) $K_{j}^{h} + K_{s}^{t} F_{j}^{s} F_{t}^{h} = 0$,

or

(1.15)
$$K_{jt}F_{i}^{t}+K_{it}F_{j}^{t}=0$$

(1.16)
$$K_{ji} - K_{ts} F_j^{t} F_i^{s} = 0$$

where $K_{j}^{t} = K_{ji} g^{it}$. If we define H_{i}^{h} by

(1.17)
$$2H_i{}^h = -K_{kji}{}^h F^{kj},$$

where $F^{k_j} = g^{kt} F_t^{j}$, (in Yano [7], the H_i^h here is denoted by $-H_i^h$), then $H_{ih} = H_i^t g_{th}$ is given by

(1.18)
$$2H_{ih} = -K_{tsih}F^{ts} = -K_{ihts}F^{ts}.$$

From (1.5) and (1.18), we find

We also have, from (1.12) and (1.19),

(1.20)
$$K_{ji} = H_{js} F_i^{s}$$
,

From (1.6) and (1.18), we have

(1.23) $\nabla_{j}H_{ih} + \nabla_{i}H_{hj} + \nabla_{h}H_{ji} = 0$

and from (1.8) and (1.21)

(1.24)
$$2\nabla_t H_i^t = (\nabla_t K) F_i^t.$$

If the Kähler manifold M has a constant holomorphic sectional curvature k at each point of the manifold, then we have (Yano [7], Chapter IV)

(1.25)
$$Z_{kji}^{h} = K_{kji}^{h} - \frac{k}{4} (\delta_{k}^{h} g_{ji} - \delta_{j}^{h} g_{ki} + F_{k}^{h} F_{ji} - F_{j}^{h} F_{ki} - 2F_{kj} F_{i}^{h}) = 0$$

and consequently

(1.26)
$$Z_{kjih} = K_{kjih} - \frac{k}{4} (g_{kh}g_{ji} - g_{jh}g_{ki} + F_{kh}F_{ji} - F_{jh}F_{ki} - 2F_{kj}F_{ih}) = 0,$$

where k is an absolute constant. A Kähler manifold of constant holomorphic sectional curvature is an Einstein space:

(1.27)
$$K_{ji} = \frac{n+2}{4} k g_{ji} \,.$$

§2. Bochner curvature tensor.

We now consider the so-called Bochner curvature tensor (Bochner [1], Tachibana [5], Yano and Bochner [8]) defined by

(2.1)
$$B_{kji}{}^{h} = K_{kji}{}^{h} + \delta_{k}{}^{h}L_{ji} - \delta_{j}{}^{h}L_{ki} + L_{k}{}^{h}g_{ji} - L_{j}{}^{h}g_{ki} + F_{k}{}^{h}M_{ji} - F_{j}{}^{h}M_{ki} + M_{k}{}^{h}F_{ji} - M_{j}{}^{h}F_{ki} -2(M_{kj}F_{i}{}^{h} + F_{kj}M_{i}{}^{h}),$$

where

(2.2)
$$L_{ji} = -\frac{1}{n+4} K_{ji} + \frac{1}{2(n+2)(n+4)} K g_{ji},$$

$$(2.3) M_{ji} = -L_{jt} F_i^{\ t},$$

that is,

(2.4)
$$M_{ji} = -\frac{1}{n+4}H_{ji} + \frac{1}{2(n+2)(n+4)}KF_{ji},$$

and

(2.5)
$$L_k{}^h = L_{kt}g{}^{th}, \quad M_k{}^h = M_{kt}g{}^{th}.$$

From (2.2) and (2.4), we have, using (1.22),

(2.6)
$$g^{ji}L_{ji} = -\frac{1}{2(n+2)}K$$

and

(2.7)
$$F^{ji}M_{ji} = -\frac{1}{2(n+2)}K$$

respectively. It will be easily seen that $B_{kji}{}^{h}$ and

$$(2.8) \qquad B_{kjih} = B_{kji}{}^{t}g_{th}$$
$$= K_{kjih} + g_{hh}L_{ji} - g_{jh}L_{ki} + L_{kh}g_{ji} - L_{jh}g_{ki}$$
$$+ F_{kh}M_{ji} - F_{jh}M_{ki} + M_{kh}F_{ji} - M_{jh}F_{ki}$$
$$- 2(M_{kj}F_{ih} + F_{kj}M_{ih})$$

satisfy

$$(2.9) B_{kjih} = -B_{jkih}, B_{kjih} = -B_{kjhi},$$

$$(2.11) B_{kjih} + B_{jikh} + B_{ikjh} = 0,$$

(2.12)
$$B_{tji}^{t} = 0$$
,

(2.13)
$$B_{kjt}{}^{h}F_{i}{}^{t}-B_{kjt}{}^{t}F_{t}{}^{h}=0,$$

(2.14)
$$B_{kji}^{h} + B_{kjs}^{t} F_{i}^{s} F_{t}^{h} = 0,$$

or

(2.15)
$$B_{kjht}F_{i}^{t}-B_{kjit}F_{h}^{t}=0$$
,

and

(2.17)
$$B_{kjts}F^{ts}=0, \quad B_{tjis}F^{ts}=0.$$

From (2.2), we have

(2.18)
$$\nabla_{k}L_{ji} - \nabla_{j}L_{ki} = -\frac{1}{n+4} (\nabla_{k}K_{ji} - \nabla_{j}K_{ki}) + \frac{1}{2(n+2)(n+4)} [(\nabla_{k}K)g_{ji} - (\nabla_{j}K)g_{ki}],$$

from which, using (1.8) and (2.6),

(2.19)
$$\nabla_t L_j^t = -\frac{n+1}{2(n+2)(n+4)} \nabla_j K.$$

From (2.4), we have

(2.20)
$$\nabla_{k} M_{ji} - \nabla_{j} M_{ki} = -\frac{1}{n+4} (\nabla_{k} H_{ji} - \nabla_{j} H_{ki})$$
$$+ \frac{1}{2(n+2)(n+4)} [(\nabla_{k} K)F_{ji} - (\nabla_{j} K)F_{ki}],$$

from which, using (1.24),

(2.21)
$$\nabla_{\iota} M_{\jmath}^{\ \iota} = -\frac{n+1}{2(n+2)(n+4)} (\nabla_{\iota} K) F_{\jmath}^{\ \iota} \,.$$

On the other hand, we have, from (2.4),

$$\nabla_{\iota} M_{j\imath} \!=\! -\frac{1}{n\!+\!4} \nabla_{\iota} H_{j\imath} \!+\! \frac{1}{2(n\!+\!2)(n\!+\!4)} (\nabla_{\iota} K) F_{j\imath} \,,$$

from which,

$$F_{k}{}^{t}\nabla_{t}M_{ji} = -\frac{1}{n+4}F_{k}{}^{t}\nabla_{t}H_{ji} + \frac{1}{2(n+2)(n+4)}F_{k}{}^{t}(\nabla_{t}K)F_{ji},$$

or, using

$$\nabla_t H_{ji} = -(\nabla_j H_{it} - \nabla_i H_{jt})$$

obtained from (1.23),

$$F_{k}{}^{t}\nabla_{t}M_{ji} = \frac{1}{n+4}F_{k}{}^{t}(\nabla_{j}H_{it} - \nabla_{i}H_{jt}) + \frac{1}{2(n+2)(n+4)}F_{k}{}^{t}(\nabla_{t}K)F_{ji},$$

or using (1.20),

(2.22)
$$F_{k}^{t} \nabla_{t} M_{ji} = \frac{1}{n+4} (\nabla_{j} K_{ik} - \nabla_{i} K_{jk}) + \frac{1}{2(n+2)(n+4)} F_{k}^{t} (\nabla_{t} K) F_{ji}.$$

We now compute $\nabla_t B_{kji}^t$. From (2.1), we have, using (2.19) and (2.21), (2.23) $\nabla_t B_{ki}^t = \nabla_t K_{kji}^t + \nabla_k L_{ji} - \nabla_j L_{ki}$ $-\frac{n+1}{2(n+2)(n+4)} [(\nabla_k K)g_{ji} - (\nabla_j K)g_{ki}] + F_k^t \nabla_t M_{ji} - F_j^t \nabla_t M_{ki}$ $-\frac{n+1}{2(n+2)(n+4)} [(\nabla_t K)F_k^t F_{ji} - (\nabla_t K)F_j^t F_{ki}]$ $-2[(\nabla_t M_{kj})F_i^t - \frac{n+1}{2(n+2)(n+4)}F_{kj}(\nabla_t K)F_i^t].$

But, using (2.22), we have

$$\begin{split} F_{k}^{\,t} \nabla_{t} M_{ji} &- F_{j}^{\,t} \nabla_{t} M_{ki} - 2 (\nabla_{t} M_{kj}) F_{i}^{\,t} \\ &= \frac{1}{n+4} (\nabla_{j} K_{ik} - \nabla_{i} K_{jk}) + \frac{1}{2(n+2)(n+4)} F_{k}^{\,t} (\nabla_{t} K) F_{ji} \\ &- \frac{1}{n+4} (\nabla_{k} K_{ij} - \nabla_{i} K_{kj}) - \frac{1}{2(n+2)(n+4)} F_{j}^{\,t} (\nabla_{t} K) F_{ki} \\ &- \frac{2}{n+4} (\nabla_{k} K_{ji} - \nabla_{j} K_{ki}) - \frac{1}{(n+2)(n+4)} F_{i}^{\,t} (\nabla_{t} K) F_{kj} \,, \end{split}$$

that is,

$$(2.24) \qquad F_{k}^{t} \nabla_{t} M_{ji} - F_{j}^{t} \nabla_{t} M_{ki} - 2(\nabla_{t} M_{kj}) F_{i}^{t}$$

$$= -\frac{3}{n+4} (\nabla_{k} K_{ji} - \nabla_{j} K_{ki})$$

$$+ \frac{1}{2(n+2)(n+4)} [F_{k}^{t} (\nabla_{t} K) F_{ji} - F_{j}^{t} (\nabla_{t} K) F_{ki} - 2F_{kj} (\nabla_{t} K) F_{i}^{t}].$$

Consequently, (2.23) can be written as

$$\begin{aligned} \nabla_t B_{kji}{}^t = \nabla_t K_{kji}{}^t + \nabla_k L_{ji} - \nabla_j L_{ki} \\ &- \frac{3}{n+4} (\nabla_k K_{ji} - \nabla_i K_{ki}) \\ &- \frac{n+1}{2(n+2)(n+4)} [(\nabla_k K) g_{ji} - (\nabla_j K) g_{ki}] \\ &- \frac{n}{2(n+2)(n+4)} [(\nabla_t K) F_k{}^t F_{ji} - (\nabla_t K) F_j{}^t F_{ki} - 2F_{kj} (\nabla_t K) F_i{}^t] \end{aligned}$$

or, by (1.7)

(2.25)

$$\nabla_t B_{kji}{}^t = -n \Big[\nabla_k L_{ji} - \nabla_j L_{kj} + \frac{1}{2(n+2)(n+4)} (F_k{}^h F_{ji} - F_j{}^h F_{ki} - 2F_{kj} F_i{}^h) (\nabla_h K) \Big]$$

(Tachibana [5]).

§3. Complex conformal connections.

We consider an affine connection in a Kähler manifold M and denote by $\Gamma_{j_1}^h$ the components of the connection and by D_j the operator of covariant differentiation with respect to $\Gamma_{j_i}^h$.

We notice first of all that an affine connection which is metric, that is, which satisfies

(3.1)
$$D_k g_{ji} = 0$$

and whose torsion tensor is a given tensor

$$(3.2) \qquad \qquad -\frac{1}{2} (\Gamma^{h}_{ji} - \Gamma^{h}_{ij}) = S_{ji}^{h}$$

is uniquely determined and is given by

(3.3)
$$\Gamma_{ji}^{\hbar} = \left\{ \begin{matrix} h \\ ji \end{matrix} \right\} + S_{ji}^{\hbar} + S^{\hbar}_{ji} + S^{\hbar}_{ij}$$

where

(3.4)
$$S^{h}_{ji} = S_{tj}^{s} g^{th} g_{si}$$
,

(Hayden [2]).

We consider a conformal change of Hermitian metric

(3.5)
$$\bar{g}_{ji} = e^{2p} g_{ji}, \quad \bar{F}_i{}^h = F_i{}^h, \quad \bar{F}_{ji} = e^{2p} F_{ji},$$

where p is a scalar function and we look for an affine connection such that

$$(3.6) D_k \bar{g}_{ji} = 0$$

and the torsion tensor S_{ji}^{h} is given by

$$(3.7) S_{ji}{}^{h} = -F_{ji}q^{h}$$

where q^{h} are components of a vector field.

By the remark above, we have, for the components Γ^h_{ji} of this affine connection,

(3.8)
$$\Gamma_{ji}^{h} = \left\{ \frac{\bar{h}}{ji} \right\} - F_{ji}q^{h} - F_{j}^{h}q_{i} - F_{i}^{h}q_{j},$$

where $\left\{ \begin{matrix} \bar{h} \\ ji \end{matrix} \right\}$ are the Christoffel symbols formed with $\bar{g}_{ji} = e^{2p} g_{ji}$ and $F^h_{j} = g^{ht} F_{tj}$, $q_i = q^t g_{li}$,

or

(3.9)
$$\Gamma_{ji}^{h} = \left\{ {h \atop ji} \right\} + \delta_{j}^{h} p_{i} + \delta_{i}^{h} p_{j} - g_{ji} p^{h} + F_{j}^{h} q_{i} + F_{i}^{h} q_{j} - F_{ji} q^{h} ,$$

where

 $p_i = \partial_i p$, $p^h = p_t g^{th}$.

We now compute $D_k \bar{F}_{ji}$ and find

$$D_{k}\bar{F}_{ji} = D_{k}e^{2p}F_{ji}$$

= $e^{2p}[-g_{kj}(p_{t}F_{i}^{t}+q_{i})+g_{ki}(p_{t}F_{j}^{t}+q_{j})$
+ $F_{kj}(p_{i}-q_{t}F_{i}^{t})-F_{ki}(p_{j}-q_{t}F_{j}^{t})]$

Thus, in order that $D_k \bar{F}_{ji} = 0$, we must have

$$-g_{kj}(p_{i}F_{i}^{t}+q_{i})+g_{ki}(p_{i}F_{j}^{t}+q_{j})+F_{kj}(p_{i}-q_{i}F_{i}^{t})-F_{ki}(p_{j}-q_{i}F_{j}^{t})=0,$$

from which, transvecting with g^{kj} , we find

$$(n-2)(p_t F_i^t + q_i) = 0$$
,

that is, since $n \ge 4$,

(3.10)
$$q_i = -p_t F_i^t, \quad p_i = q_t F_i^t.$$

The converse being evident, we have

PROPOSITION 3.1. In a Kähler manifold with Hermitian metric tensor g_{ji} , and complex structure tensor F_i^h , the affine connection which satisfies

$$D_k e^{2p} g_{ji} = 0$$
, $D_k e^{2p} F_{ji} = 0$,

and

$$\varGamma_{ji}^{\hbar} {-} \varGamma_{ij}^{\hbar} {=} {-} 2 F_{ji} q^{\hbar}$$
 ,

where p is a scalar function and q^h is a vector field, is given by

$$\Gamma_{ji}^{h} = \left\{ \begin{array}{c} h \\ ji \end{array} \right\} + \delta_{j}^{h} p_{i} + \delta_{i}^{h} p_{j} - g_{ji} p_{h} + F_{j}^{h} q_{i} + F_{i}^{h} q_{j} - F_{ji} q^{h} ,$$

where

$$p_i = \partial_i p$$
, $p^h = p_t g^{th}$, $q_i = -p_t F_i^t$, $q^h = q_t g^{th}$.

We call such an affine connection a complex conformal connection.

§4. Curvature tensor of a complex conformal connection.

We consider a complex conformal connection

(4.1)
$$\Gamma_{ji}^{\hbar} = \left\{ \begin{array}{l} h\\ ji \end{array} \right\} + \delta_j^{\hbar} p_i + \delta_i^{\hbar} p_j - g_{ji} p^{\hbar} + F_j^{\hbar} q_i + F_i^{\hbar} q_j - F_{ji} q^{\hbar} ,$$

where $p_i = \partial_i p$, $p^h = p_t g^{th}$, $q_i = -p_t F_i^t$ and $q^h = q_t g^{th}$, p being a scalar function, in a Kähler manifold and compute the curvature tensor of $\Gamma_{j_1}^h$:

(4.2)
$$R_{kji}{}^{h}\partial = {}_{k}\Gamma^{h}_{ji} - \partial_{j}\Gamma^{h}_{ki} + \Gamma^{h}_{kt}\Gamma^{t}_{ji} - \Gamma^{h}_{jt}\Gamma^{t}_{ki}.$$

By a straightforward computation, we find

(4.3)
$$R_{kji}{}^{h} = K_{kji}{}^{h} - \delta_{k}^{h} p_{ji} + \delta_{j}^{h} p_{ki} - p_{k}{}^{h} g_{ji} + p_{j}{}^{h} g_{ki} - F_{k}{}^{h} q_{ji} + F_{j}{}^{h} q_{ki} - q_{k}{}^{h} F_{ji} + q_{j}{}^{h} F_{ki} + (\nabla_{k} q_{j} - \nabla_{j} q_{k}) F_{i}{}^{h} - 2F_{kj} (p_{i} q^{h} - q_{i} p^{h}),$$

where

(4.4)
$$p_{ji} = \nabla_{j} p_{i} - p_{j} p_{i} + q_{j} q_{i} + \frac{1}{2} p_{i} p^{t} g_{ji},$$

(4.5)
$$q_{ji} = \nabla_j q_i - p_j q_i - q_j p_i + \frac{1}{2} p_i p^t F_{ji},$$

consequently

(4.6)
$$q_{ji} = -p_{jt} F_i^t, \quad p_{ji} = q_{jt} F_i^t$$

and

(4.7)
$$p_k{}^h = p_{kt}g^{th}, \qquad q_k{}^h = q_{kt}g^{th}.$$

Thus if we assume that

(4.8)
$$R_{kji}{}^{h}=0$$
,

then we have

(4.9)
$$K_{kji}{}^{\hbar} = \partial_{j}^{\hbar} p_{ji} - \partial_{j}^{\hbar} p_{ki} + p_{k}{}^{\hbar} g_{ji} - p_{j}{}^{\hbar} g_{ki} + F_{k}{}^{\hbar} q_{ji} - F_{j}{}^{\hbar} q_{ki} + q_{k}{}^{\hbar} F_{ji} - q_{j}{}^{\hbar} F_{ki} + \alpha_{kj} F_{i}{}^{\hbar} + F_{kj} \beta_{i}{}^{\hbar},$$

where

(4.10)
$$\alpha_{kj} = -(\nabla_k q_j - \nabla_j q_k),$$

$$\beta_i{}^h = 2(p_i q^h - q_i p^h)$$

and consequently

(4.12)
$$\beta_{ih} = \beta_i^{t} g_{ih} = 2(p_i q_h - q_i p_h).$$

From (4.10) and (4.12), we have respectively

(4.13)
$$\alpha = F^{k_j} \alpha_{k_j} = -2 \nabla_t p^t,$$

and

(4.14)
$$\beta = F^{k_j} \beta_{k_j} = 4 p_t p^t.$$

From (4.9), we have

(4.15)
$$K_{kjih} = g_{kh} p_{ji} - g_{jh} p_{ki} + p_{kh} g_{ji} - p_{jh} g_{ki} + F_{kh} q_{ji} - F_{jh} q_{ki} + q_{kh} F_{ji} - q_{jh} F_{ki}$$

 $+\alpha_{kj}F_{ih}+F_{kj}\beta_{ih}$.

From (1.4) and (4.15), using

$$(4.16) p_{ji} - p_{ij} = 0,$$

we find

(4.17)
$$F_{kh}(q_{ji}+q_{ij})-F_{jh}(q_{ki}+q_{ik}) + (q_{kh}+q_{hk})F_{ji}-(q_{jh}+q_{hj})F_{ki} + (\alpha_{kj}-\beta_{kj})F_{ih}-F_{kj}(\alpha_{ih}-\beta_{ih})=0$$

Transvecting (4.17) with F^{kh} , we find

$$(n-2)(q_{ji}+q_{ij})=0$$
,

 $q_{ji} + q_{ij} = 0$,

and consequently

(4.18)

which can also be written as

(4.19) $p_{jt}F_{i}^{t}+p_{it}F_{j}^{t}=0,$

from which

From (4.17) and (4.18), we find

$$(\alpha_{kj}-\beta_{kj})F_{ih}-F_{kj}(\alpha_{ih}-\beta_{ih})=0$$
,

 $(\alpha - \beta)F_{ih} - n(\alpha_{ih} - \beta_{ih}) = 0$,

from which, by transvection with F^{kj} ,

$$\alpha_{ih} - \beta_{ih} = \frac{1}{n} (\alpha - \beta) F_{ih}$$
,

or, using (4.13) and (4.14),

(4.21)
$$\alpha_{ih} - \beta_{ih} = -\frac{2}{n} (\nabla_i p^i + 2p_i p^i) F_{ih}.$$

On the other hand, from (4.5), (4.10) and (4.18), we find (4.22) $\alpha_{ji}{=}{-}2q_{ji}{+}p_ip^iF_{ji}\,,$

from which, using

(4.23)
$$F^{ji}q_{ji} = F^{ji}(-p_{jt}F_{t}) = p_{t}^{t},$$

we have

$$(4.24) \qquad \qquad \alpha = -2p_t^t + np_t p^t.$$

From (4.21) and (4.22), we find

$$\begin{split} \beta_{ji} &= -2q_{ji} + p_t p^t F_{ji} + \frac{2}{n} (\nabla_t p^t + 2p_t p^t) F_{ji} \\ &= -2q_{ji} + \left[-\frac{2}{n} \nabla_t p^t + \frac{n+4}{n} p_t p^t \right] F_{ji} \,, \end{split}$$

from which, using

(4.25)

$$p_t^t = \nabla_t p^t + \frac{n}{2} p_t p^t$$
 ,

we find

(4.26)
$$\beta_{ji} = -2q_{ji} + \frac{2}{n} (p_t^i + 2p_t p^i) F_{ji}$$

Now, from (1.5) and (4.15), we find, using (4.16) and (4.18),

$$(4.27) \qquad 2(F_{kh}q_{ji}+F_{jh}q_{ik}+F_{ih}q_{kj}+q_{kh}F_{ji}+q_{jh}F_{ik}+q_{ih}F_{kj}) +F_{kh}\alpha_{ji}+F_{jh}\alpha_{ik}+F_{ih}\alpha_{kj} +\beta_{kh}F_{ji}+\beta_{jh}F_{ik}+\beta_{ih}F_{kj}=0.$$

Substituting (4.22) and (4.26) into (4.27), we obtain

$$[2p_t^t + (n+4)p_tp^t](F_{kh}F_{ji} + F_{jh}F_{ik} + F_{ih}F_{kj}) = 0,$$

from which

(4.28)
$$2p_t^t + (n+4)p_t p^t = 0.$$

In (4.9), we contract with respect to h and k and use (4.6), then we obtain

$$K_{ji} = np_{ji} + p_i^t g_{ji} - \alpha_{ji} F_i^t - \beta_{ii} F_j^t,$$

from which, substituting (4.22) and (4.26),

$$K_{ji} = np_{ji} + p_{t} {}^{t}g_{ji} - (-2q_{ji} + p_{s}p^{s}F_{ji})F_{i} {}^{t}$$
$$- \left[-2q_{ii} + \frac{2}{n} (p_{s} {}^{s} + 2p_{s}p^{s})F_{ii} \right]F_{j} {}^{t},$$

or, using (4.6),

$$K_{ji} = (n+4)p_{ji} + \left(\frac{n-2}{n}p_{i}^{t} - \frac{n+4}{n}p_{i}p^{t}\right)g_{ji},$$

or, using (4.28),

(4.29)

$$K_{ji} = (n+4)p_{ji} + p_t^{t}g_{ji}$$

from which

(4.30)

$$K=2(n+2)p_t^t$$
.

Substituting

$$p_t^t = \frac{1}{2(n+2)} K$$

obtained from (4.30) into (4.29), we find

$$(4.31) p_{ji} = -L_{ji},$$

where L_{ji} is the tensor defined by (2.2). From (4.31), we find, using (4.6),

$$(4.32) q_{ji} = -M_{ji},$$

where M_{ji} is the tensor defined by (2.4). From (4.22) and (4.32), we find

$$\alpha_{ji}=2M_{ji}+p_tp^tF_{ji},$$

or, using (4.28),

(4.33)

$$\alpha_{ji}=2M_{ji}-\frac{2}{n+4}p_i{}^tF_{ji},$$

or, using (4.30),

(4.34)

$$\alpha_{ji} = 2M_{ji} - \frac{K}{(n+2)(n+4)} F_{ji}.$$

From (4.26) and (4.32), we find

$$\beta_{ji} = 2M_{ji} + \frac{2}{n} (p_i^t + 2p_i p^t) F_{ji}$$
,

or, using (4.28),

(4.35)
$$\beta_{ji} = 2M_{ji} + \frac{2}{n+4} p_i^{\ t} F_{ji},$$

or, using (4.30),

(4.36)

$$\beta_{ji} = 2M_{ji} + \frac{K}{(n+2)(n+4)}F_{ji}$$

Substituting (4.31), (4.32), (4.34) and (4.36) into (4.9), we find

$$\begin{split} K_{kji}{}^{h} &= - \delta^{h}_{k} L_{ji} + \delta^{h}_{j} L_{ki} - L_{k}{}^{h} g_{ji} + L_{j}{}^{h} g_{ki} \\ &- F_{k}{}^{h} M_{ji} + F_{j}{}^{h} M_{ki} - M_{k}{}^{h} F_{ji} + M_{j}{}^{h} F_{ki} \\ &+ 2(M_{kj} F_{i}{}^{h} + F_{kj} M_{i}{}^{h}) \,, \end{split}$$

that is,

(4.37)

$$B_{kji}^{h}=0$$
.

Thus, we have

THEOREM 4.1. If, in an n-dimensional Kähler manifold $(n \ge 4)$, there exists a scalar function p such that the complex conformal connection

$$\Gamma_{ji}^{h} = \left\{ \begin{array}{c} h \\ ji \end{array} \right\} + \delta_{j}^{h} p_{i} + \delta_{i}^{h} p_{j} - g_{ji} p^{h} + F_{j}^{h} q_{i} + F_{i}^{h} q_{j} - F_{ji} q^{h} ,$$

where $p_i = \partial_i p$, $p^h = p_t g^{th}$, $q_i = -p_t F_i^t$ and $q^h = q_t g^{th}$, is of zero curvature, then the Bochner curvature tensor of the manifold vanishes.

BIBLIOGRAPHY

- [1] S. BOCONER, Curvature and Betti numbers, II, Ann. of Math., 50 (1949), 77-94.
- [2] H.A. HAYDEN, Subspaces of a space with torsion, Proc. London Math. Soc., 34 (1934), 27-50.
- [3] S. ISHIHARA, Holomorphically projective changes and their groups in an almost complex manifold, Tôhoku Math. J., 9 (1959), 273-297.
- [4] S. ISHIHARA, On holomorphic planes, Ann. di Mat. Pura ed Appl., XLVII (1959), 197-241.
- [5] S. TACHIBANA, On the Bochner curvature tensor, Natural Science Report, Ochanomizu University, 18 (1967), 15-19.
- [6] H. WEYL, Zur Infinitesimalgeometrie: Einordnung der projektiven und der konformen Auffassung, Göttingen Nachr. 1921, 99-112.
- [7] K. YANO, Differential geometry on complex and almost complex spaces, Pergamon Press, (1965).
- [8] K. YANO AND S. BOCHNER, Curvature and Betti numbers, Ann. of Math. Studies, 32 (1953), Princeton University Press.

TOKYO INSTITUTE OF TECHNOLOGY.